ka1

*EEEDHEOBHTEWAHSKSIC. [ |EHTERFZHZENEWNFTLL S,

Tkm = m 1km200m = m

1km40m = m 6km = m

KX ZEZNEFNOEZLS SNRT, =, <, >ZEDMNO>TIAXL&LD,

4250m 4km25m 6km10m 6100m
8km 800m 1100m 1Tkm
2km100m + 750m — km m
9km350m + 450m — km m
4km900m - 1km800m — km m
1Tkm100m + 110m — km m

2 Al Copyright (C) NZAEDHDEREHSUIL . All Rights Reserved.




RS

*EEEDOHEDOHZWHHBS KSIC,

Tkm

1km40m

4250m

8km

2km100m

9km350m

4km900m

Tkm100m

[ JehTREIHENEVNEL &S,

= 1000 | m 1km200m = | 1200 | m
= 1040 | m 6km =| 6000 | m
KX FNZFNOEZLISENRT, =, <, >ZEDHNO>TIREAFLLS,
> 4km?25m 6km10m < 6100m
> 800m 1100m < 11km
+ 750m o 2 km 850 m
+ 450m - 9 km 800 m
- 1km800Om - 3 km 100 m
+ 110m — 1 km 210 m

Copyright (C) NZEDHDEBIEHEUIL . All Rights Reserved.




